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v The equation of the circle passing through (0, O) and making 11
intercepts 2 and 4 on the coordinate axes is: *

X>+yP=x=2y=0 x4y =2x—4y=5
(O option 1 (O option 2
X2+ =2x—-4y=0 x* 4y =2x—-4y+1=0

(® option3 v (O option 4
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The centre and radius of the circle x> + y* + 4x — 6y = 5 is:

(2,-3),24/2 (=2,3),34/2

Option 1 (® oOption 2 v

(=2,3),24/2 (2,-3),34/2

Option 3 Option 4
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The equation of circle whose centre is (2, 1) and which passes through the point (3, =5) is:

x? 4+’ —4x=2y—-5=0 x> +y —4x-2y-32=0
Option 1 @ Option 2 v
x? 4P —4x-2y—-13=0 x> +y? —4x-2y—18=0

Option 3 Option 4



v The equation of circle of radius 5 units touches the coordinates 1/1
axes in the second quadrant is: *

x>+ +10x - 10y +25=0 x>+ —10x—10y+25=0
(® Option 1 v (O option 2

x>+ +10x+10y+25=0 x>+ —10x—10y+25=0
(O option 3 (O option 4

v ¥ 1/

Point (=2, —5) lies on the circle x? + y2 =25

O On the axis outside the circle

(@ Outside v
(O Inside
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